Subject: Re: PSU and strata identifiers - Egypt
Posted by Nora on Wed, 13 Jul 2016 21:38:08 GMT

View Forum Message <> Reply to Message

Thank you for clarifying the steps.

Just for confirmation, doing then these steps then running the regression as follows:
svy: reg y x1 x2 x3 for each year should be enough without the need to add an option of clusters,
am | correct?

Also, | would like to ask if there is a method to draw a ROC curve as well as a test for weak
instruments that can be combined with the svy command for binary response models as it seems
that svy cannot be combined with many tests.

Thank you.
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